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Integrace	

	

KFC/SEM,	KFC/SEMA	

	

1. Vypočítejte	neurčité	integrály	

!(−sin𝑥 +
1
2√𝑥

)d𝑥 =	 /𝑐𝑜𝑠𝑥 + √𝑥 + 𝑐3 

!436 +
4

3 cos: 𝑥
; d𝑥 =	 <

36

𝑙𝑛3
+
4
3
𝑡𝑔𝑥 + 𝑐A 

!B
2

sin: 𝑥
−
𝑒6

3
Dd𝑥 =	 <−2𝑐𝑜𝑡𝑔𝑥 −

1
3
𝑒6 + 𝑐A 

!
𝑥E − 𝑥F + 1

3𝑥
d𝑥 =	 G

1
9
𝑥E −

𝑥F

15
+
1
3
ln|𝑥| + 𝑐L 

!M𝑥√𝑥 d𝑥 =	 <
4
7
O𝑥PQ + 𝑐A 

!
106 + 46

26
d𝑥 =	 <

56

𝑙𝑛5
+
26

𝑙𝑛2
+ 𝑐A 

!sin(4𝑥 − 3) d𝑥 =	 <−
1
4
cos(4𝑥 − 3) + 𝑐A 

!
1

2𝑥 − 1
d𝑥 =	 <

1
2
ln|2𝑥 − 1| + 𝑐A 

!𝑒SE6TUd𝑥 = <−
1
3
𝑒SE6TU + 𝑐A 

!√𝑥 	∙ ln: 𝑥 d𝑥 = <
2
3
O𝑥E 4ln: 𝑥 −

4
3
𝑙𝑛𝑥 +

8
9
; + 𝑐A 

!
𝑒
U
6

𝑥:
𝑑𝑥 = 

<−𝑒
U
6 + 𝑐A 

!
(1 + 𝑙𝑛𝑥)

U
:

𝑥
𝑑𝑥 = 

<
2
3
O(1 + 𝑙𝑛𝑥)E + 𝑐A 

!
sin2𝑥

3 + sin: 𝑥
𝑑𝑥 = [ln	 |3 + sin: 𝑥|+𝑐] 

!cos: 𝑥𝑑𝑥 = <
1
2
(𝑥 + 𝑠𝑖𝑛𝑥𝑐𝑜𝑠𝑥) + 𝑐A 
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2. Vypočítejte	určité	integrály	

! sin𝑥 ∙ cos𝑥d𝑥 =

]
:

^

	
<
1
2
A 

!
66

26
d𝑥 =

U

^

	 <
2
𝑙𝑛3

A 

! cos 𝑥	𝑑𝑥 =

]
:

^

 

[1] 

!
1

1 + 𝑥
𝑑𝑥 =

E

U

 
[ln 2] 

!
cos` 𝑥 − sin` 𝑥

cos 2𝑥

F

^

𝑑𝑥 = 
[5] 

	  

3. Vypočtěte	plošný	obsah	rovinného	obrazce,	který	je	ohraničen	danými	křivkami	
𝑦 = 2 − 𝑥:, 𝑥 = 𝑦	
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